
1
2

3

35

3

M2.5 Screw

M2.5 Nut

4

4

As a first step, please remove the protective foil from all 
parts before assembly (the parts are coated from BOTH sides).
 
Begin assembly of the case by putting the front panel 3 on a flat 
surface (i.e. table). Connect the side panels 2 and the top 
to the front panel as illustrated in the diagram on the right side.
Now place the black back-panel 4 on top.
Connect all parts of the case using the small 
countersunk screws and nuts. 
 
Important: Please tighten the screws only lightly.

Pocket Knife Display Case - 41260www.sora-shop.com

1
2

4

3

3

3

2

2
2

Individual Parts :

1 x Set of Screws for the Base (2 x Screw M4 x 6mm,  2 x Sleeve Nut M4 x 7mm)

1 x Set of Screws for Case and Knife-Stand (20 x M2.5 Countersunk Screw, 20 x M2.5 Hexagon Nut  )

Front Panel 

Front Panel 

Upper Base 

Upper Base 

2 x Side Panel 

2 x Side Panel 

2 x Knife Stand 

2 x Knife Stand 

Knife Stand 

Knife Stand 

Sides 

Sides 

Base 

Base 

Top Cover 

Top Cover 

41260a 

41240a 

41260b 

41150b 

41260c 

41240c 

41260d 

41240d 

41260e 

41240e 

41260g

41240g

41260h 

41240h 

41260i

41240i

(transparent) 

(transparent) 

(transparent) 

(transparent) 

(transparent) 

(transparent) 

(mirrored) 

(mirrored) 

and 

and 

Back Panel 

Back Panel 

7

7

5

9

9

9

9

8

8

Lower Base 

Lower Base 

1

1

4

4

3

3

7

7

2

2

8

8

5


